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1. RENEE
REHEE 4,452,970 4,174,194 218,716
ATiLE 22,310 10, 304 12, 006
RENEESE 4,475, 280 4,184, 498 290, 782
2. EEEE
(1) EARBAE
TEHTEE 5, 000, 000 5, 000, 000 0
HEABAESET 5, 000, 000 5, 000, 000 0
(2) BEEE
BEIRFTEIHEE 1,560, 000 1, 440, 000 120, 000
RMERG | B EE 986, 625 905, 459 81,166
BETERILEE 500, 000 500, 000 0
NEENEEEE 3, 650, 000 2, 850, 000 800, 000
HEKBEBNEXEE 1, 000, 000 1, 000, 000 0
BEEESE 7,696, 625 6, 695, 459 1,001, 166
Q) ZDhEEEE
2= E 162,575 243, 741 A 81,166
e 200, 000 200, 000 0
ZTDMETEEEEE 362, 575 443, 741 A 81,166
BEE&EESET 13,059, 2001 12, 139, 200 920, 000
BESE 17,534, 480| 16, 323, 698 1,210, 782
I BEDE
1. REIBE
XiLE 45, 540 39, 273 6, 267
JEUE 6, 090 13, 353 A 7,263
KHUGEANTRE 75, 000 76, 000 A 1,000
RBBESE 126, 630 128, 626 A 1,996
2. BxEaE
BREAEHEIHE 1,560, 000 1, 440, 000 120, 000
BIEB8ESE 1,560, 000 1, 440, 000 120, 000
BiEEE 1,686, 630 1,568, 626 118, 004
I IERRBAEEDER
1. ¥EEIERREAE
IREIEKREESE 0 0 0
2. —HRIERREAE
Z D th—A% IEBREA 2 15, 847, 850| 14, 755,072 1,092,778
— AR IERKBABE & 5T 15, 847,850] 14,755,072 1,092, 778
(O BEKRIHEADITHED) (5, 000, 000) [ (5, 000,000)| ( 0)
(O BLEEEE~DF T HEE) (6,136, 625)| (5, 255,459)| ( 881, 166)
IERRBAERET 15, 847,850 14, 755,072 1,092,778
BERUVERKEESS 17,534, 480| 16, 323, 698 1,210, 782




